word study
word study1
Conquered (v)= to gain by force

Anglo - saxon (n) = old English

a bit = a little more

obsolete = no longer in use our useful

archaic= bleonging to an ancient times

decay = to be destroyed 
collognial= informal speech or informal writing

________________

word study2
acceleration= a process in which something happens more and more quickly

fourfold= four times as much

prosperity = a condition of having money and everything that is needed for a good life

mortality= the number of death a period of time 
decade= a period of ten years

